O T Y00 00

DO-001-001282 Seat No.
B. A. (Sem. II) (CBCS) Examination
April / May - 2015

Gujarat Agricultural Economics
(Old Course) - (Elective - I)

Faculty Code : 001
Subject Code : 001282

Time : 2% Hours] [Total Marks : 70

YA @ (1) 835 ua-l G Hou GuradlHi ¥ aval-l W84,
(2) omell olgell »is wadl 9@ sald O,

1 MCQ.: 20
(1) wels sM Gauesdil dsladd SIR8L................
(A)  aled wHLL i RS-l Aaadi-l dslad
(B)  upllseidl aeng
(©) ¥dl wslal dsiad
(D) Asus AWa--Al € Al
(2) =2dl audr-l Mud sdL &smi @y W3 8§ 7
A) Gela B) sk
(C) u (D) Adl

(3) ARSI sMAHL Aoould wHlel MR Sd........eees.n.

N

8.
A) QR (B)
(C) AW (D) syl «dl

(4) olRdYL d9Rale U IR 2l 3edl © ?

A) 60 % B) 65 %
(C) 70 % D) 75 %
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(5) sMAA Al ay Aowoudl sul 2ami wy S ?
A) ARsL (B) Sea=
(C) ™Rd D) sl
(6) awleal daRidHl Wl ugdlsl sHisl Y5 ManU s4L B ?
(A) uguE- (B) Hul G
(C) «yBeldl (D) HRY GelldL
(7) oA, As2Ra s uis W Ao 4AA B ?
(A)  SURA B) wosull
©) A4 (D) ®“2i2L
(8) oll.8. AseRall sy QA 53 edl ?
@) ol B) -
(C)  USRRLH+ (D) 3. @l
(9) wtaliauL gRL oAdl Vi g 58 & 7
(A) 3L YRR B) adl e
€) Ml suRe (D) 3MHsa sRe

(10) 2us Mad ugli-l sidamdl 3edl o & 7

(A) 60 % B) 70 %
(C) 80 % (D) 8074l ay
(11) AR 247 529+ 32al 251 ol gail uiell gl Riaus wy
87
(A) 65 % B) 55 %
C) 45 % D) 35 %

(12) ooud-l s s 12 Alell Head uRoa & & 7
A i Rew B) s B
(©) s Aol D) RiASHL arrl

DO-001-001282 ] 2 [ Contd...



(13) oLoudHl $4L $80 Wisd AWdd Al quR wd & 7
(A) Hol (B) AL
(C) 38 (D) qdr
(14) %2 wee ARA euL suL w6t WYL Gladl vl & 7
(A) Markus (B) Marcus
(C) Marcas (D) Markas
(15) Aa-delarl Aoy yadd-l eud 104l 15 250 2% e 9.

N

(A)  Gledl v U 9.
(B) Aqgdl §4l 24 W3 ©
©) [Rs Rdl w8,
(D) udl oy 9.
(16) sami ologRid Al a4y Bales &3 AR 2 & ?
(A)  UBWYLA (B) Yae
©) SRR (D) aUd
(17) Bt 3R2 518 yed Jear addl du & 7
(A) 2 B) 3
© 4 D) 5
(18) vrid A%AML AWWSs ML Aol sARYL AHaH] 2l ?
(A) 1965 B) 1975
(C) 1985 (D) 1995
(19) 2ol Ry WAl 852:€ls Gl 4 A% HuR 8§ ?
(A) SRR (B) aUd
(C)  AUBWLA (D) Y
(20) 56§ 2A2el viidR Gulet A Aoy 4Ad S 7
(A) NDDB (B) GSSCA

(C) GSSC (D) GNFC
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2 1991 ugdl deRudul ddal vialasiua duedl.
YAl

2 B sRe 518 00 Ayl 1.

3 AReeul RSl a4l
Yql

3 varld ML AdlHl Hewadl Al s,

4 SdoR dasdl vl R qxedl.
2Yql

4 s ML AL 200 RQRrardl 3l 5.

5  vdozrdaidl vuMlpdl MaiRal s dlddal waaix) [@od

AxoNd)l.
2Yql

5  vgd 2wsR¥s ML doenl [Qoid auedl.

6 drRiddl vidldl Hea axpl A2l
YAl

6 drRlddl vdbslal-dl Msiu-l qaRl quendl.
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ENGLISH VERSION

Instructions : (1) Write answer of all questions in main answer

sheet.

(2) Figures to right side indicate marks of questions.

1 MCQ. 20

ey

)

3)

4)

()

What is regional differentiation of agricultural

productivity in India ?

(A) Difference between ratio of rain and irrigation
facility.

(B) Inadaquate Mechanism
(C) Differentiation in agricultural method
(D) Slow process of scientific method

Diminishing law of return is implemented in which

sector ?
(A) Industry (B) Agriculture
(C) Rural (D) All above

How much ratio of employment in agriculture in USA
than India ?

(A) More (B) Less

(C) Equal (D) None

How much apperdule land of rain in India ?

(A) 60% B) 65%

©) 70% O 7%

In which country much more employment in agriculture ?
(A) America (B) England

(C) India (D) France
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@)
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(10)

(11

(12)

(13)

Which is only one important supplementary occupation

of agriculture in rural Gujarat ?

(A) Animal Husbandry

(B) Portry

(C) Small Industry

(D) Fishery

Which crop is related to B.T. Bacteria ?

(A) Cotton (B) Groundnut

(C) Sugarcane (D) Potato

Who is the founder of B.T. Bacteria ?

(A) Barlinar (B) Nuton

(C) Ainstain (D) Dr.Swaminathan
Fertilizer prepared through earthworm is called
(A) Dung compost (B) Wormi compost
(C) Pit compost (D) Chemical compost

How much efficiency has drip irrigation system ?
A) 60% B) 70%
©) 80% (D) More than 80%

How many percentage of land is irrigated by well water
is Saurashtra and Kachchh ?

(A) 65% B) 55%
©) 45% D) 35%

What is the main reason of development of agriculture
of Gujarat ?

(A) Agri. education (B) Agri. Finance

(C) Agri. Fair (D) Increase in irrigation
Which pulse crop grown mostly in Gujarat ?

(A) Green gram B) Gram

(C) Black gram (D) Pigion pea

DO-001-001282 ] 6 [ Contd...



(14) The word market is originated from which word of Latin

Language ?
(A) Markus (B) Marcus
(C) Marcas (D) Markas

(15) Due to lack of proper storage accommodation every year

10 to 15 percent grain is
(A) Eaten by rat (B) Thrown in the sea
(C) Exported (D) Spoiled

(16) Which state produced the highest production of Bajara

crop in the country ?
(A) Rajasthan (B) Punjab
(C) Maharashtra D) Gujarat
(17) How many year time limit of Kishan Credit Card ?
A 2 ®B) 3
©) 4 D) 5

(18) When did kharif crop insurance scheme is implemented

in Gujarat State ?
A 1965 B) 1975
(C) 1985 D) 1995

(19) Which state is the first in production per hector of

different crops of the country ?
(A) Maharashtra B) Gujarat
(C) Rajasthan (D) Punjab
(20) Which institution is associated with fertilizer production ?
(A) NDDB B) GSSCA

(C) GSSC O) GNFC
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2 Explain agriculture development in Gujarat after 1991. 10

OR
2 Discuss about Kisan Credit Card. 10
3  Discuss the irrigation problem of Saurashtra. 10
OR
3  Discuss the importance of agriculture in Gujarat State. 10
4  Explain in detail limitation of agriculture marketing. 10
OR
4  Discuss about crop insurance scheme in detail. 10

5  Explain the steps taken by the Government to improve 10
the limitations of agriculture marketing.

OR
5 Discuss in detail of farmer accident insurance scheme. 10
6  Discuss the main problems of agriculture in Gujarat. 10
OR
6  Explain trends of exports of agriculture products in 10

Gujarat.
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